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What is the first step to solve this equation? 

A) Divide the beans equally among all of the cups 

B) Subtract 3 beans from each side of the model 

C) Add 12 beans to each side of the model

D) Divide both side of the model by three

C. 
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H. 


The equation 
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 is modeled below. 
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Which value of x would make the equation true? 


A) 
2

B) 1

C) -1 

D) 
-2
I. 

3x + 9 = 24
J. 

 

What does the equation shown on the balance scale below represent? 

A) 2x + 2 = - 4

B) 2x - 2 = (4)
C) 2x + 4 = 2

D) 2x - 2 = (-4)
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